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O 25km? = 2500a @ 49a =490 ha
3@ 6800000 m? = 680 a @0.54 ha = 5400 m?

® 370a = 3.7m?

~&B

1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a =0.49ha

@ 6800000 m? = 68000 a

® 370a = 37000 m?
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@ Y=4cm, 7F=3cm, Y= Tcm

@7]'2 S5cm, (ZHLE)=70°, (ZF 1 EL)=70°

@ th=3cm, 7t=4cm, (ZF LE1)=60°

® @ vra1e)=30° (&4 1LE)=60°,
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HEFD 12.32km

(@ AFA7E L A7 B4 2 A)
: 147.84 + 3 = 49.28( km)
(© AHEA7E 1 A7 53 2 A=)
: 147.84 + 4 = 36.96( km)
49.28 — 36.96 = 12.32(km)
@A-527E 12.32km o A DRFY T




